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Class: Five, Subject: English
Type of Question

[100% Competency based]
C.T +T.T+S.E (15+10+100)=125-20%=100
*Seen passage :
Read the text and answer the Question 1-4.
1. Match the words of the column A with their meaning the
is mentioned in the text in the column B

(there is two extra). Or, Fill in the blanks) 5
2. Write True or False, If false give the correct answer. 6
3. Answer the following questions. 12
4. Write a short and simple composition 10

*Unseen passage:
Read the text and answer the Question 5-8.
5. Fill in the blanks with the given words (Competency Based)5
6. Write True or False, If false give the correct answer. 6
7. Answer the following questions. 10
8. Write simple personal letters (cues will be given and student
will have to Write a letter accordingly) Competency Based.10
9. Make Five Wh- questions With the underlined word given in the
following statements. 10
10. Short questions (students will answer all questions by
understanding instructions/directions/procedures to do
any work (Competency Based) (1+2+3) 6
11. Short questions (by using information related to days,
weeks, months, time or cardinal & ordinal numbers in tables
or column students will answer SCRQS/fill in the gaps) 5
12. Arrange/Re-write (students will arrange or-write letters
and words to make sense ) 10

13. Filling Simple Form:

First Term Exam : English For Today: - Unit (1-15).
Second Term Exam : English For Today: - Unit (16-25).
1.3, “street G5 AR - o (@1e e |



ceifer: oe | fRw: sifde

AT 4T 8 AT

[S00% @riret fofes]

C.T +T.T+S.E (15+10+100)=125-20%=100

> 1 TS & (2006 AR 200692 Terw Mre = ) 0
8 | oI el syiffe eyt (5w weay sfow Tew face 2@)
© | AN @ IR FHES Ter (67 W Sow Tew e 2@)
8 | LR Sy iR T (KT My Sow T fee 209)
@1 g FHES Tt (5% Wy ShF Tew Mre =)
b | IS SR Tifes e (6T ek 6w Tew te 7@)
q | =roadl FHEe T (K69 Mo SB7 Tew fre =09)
b | iffe oiffs TaeT: MoreeT Spres o wi& ¢ wiEFe g

T XTI

caf*igy feraw (o B sweay 2fbw Tex frre 209) 5
o | 2l e et (257 Wy SBe Tew e 29) b
So | I HfEe w1t (5% ey Sfow e fee 209) 8
Y | BTG Rsaae @ Tworeayt wwxifee ot (57 weay 359 Tea
™te 7)) b

(R, 7. : 2 (ATF 9 932 5,50 8 5 TR ATHT TGF NI CFCd SGIAG
YT FCT (AT 2F ]
2RI AN AR ¢ el siferos Jo1-(3-vbr) A4 |
Tyifife ¢ e, fage, Tove, I8 TS |
RS AT ARTLe el oifdhes - (vrd-s¢¢) e |
TIfNfS 3 wHlel, I, 997, ARMOTFA NG |
1.2 “Srest G35 AR - o @IC BT |
ifa: e | fagw: oS e
AT 1T 8 BT
[S00% @reireT fofew]
C.T +T.T+S.E (15+10+100)=125-20%=100
S | TS e g e (AT @ A fofew (5¢fB) wo
3 | f6F I e ey oer (3875 Wy 32fF) 52
© | AITACR * T AR T AT *CoS (erda So




8 | loTNE &% (Sofba Wxy vow Tew fre =) 8t
2T ANAS AF 8 (TG 3-9) 7o R (3-¢d) *4F
ST AR AT 3 (IO b-38) PR (€3-d03)
LR “Sree G5 ARw- It (@IE HreerR |
ey steewy, fiag: Jreemont @ fg=ifao
AT 1T 8 BT
[500% @iTe! fofes]
C.T +T.T+S.E (15+10+100)=125-20%=100
> | S oy ¢ TR (AF W3R SgAEET fofes (3¢fB)  wo
3 | 6T I e ey oer (3875 Wy v2fF) 52
© | TR *THF A ©F A = [ered do
8 | FROTRGE & (30f6q way vba Tex fire z) 8b
2RT AT ARF 8 (TG 3-0) 3 7R (2-¢¢) 7T
RS AT ATHT 3 (TG 2-5Y) s . (€u-59) @
LR “Sree G5 AR~ T (@€ HreerR |
Gfr: sigew |, [Tw: I 8 (Afes frmt
2THT QT 8 TFIBT
[S00% @iret fofes]
C.T +T.T+S.E (15+10+100)=125-20%=100
> | e oy ¢ [fee (AF @3 AT fofew (3¢B) wo
3| T I e ey ot (3857 Wy 52 52
O | AT =T AL T AT *Ca Werva o
8 | FOTIRGE & (30f6q Wy vbw Tew Fire 2) 8b
2T A AIFT 3 (SIG 5T 6 27), 73 (3-90) € (30€-35¢)
RS AT AR 3 (e o7 @ 89) s (u8-308) € (S3u-30v)
I “wreet G AR 79yl (@I e |

ForAETR (Yt S bifeifd*






